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) Find F5 due to air
)Daar - (29 ke /@3 the we\ﬁh’r of the air the man disglaces is ngn;,

®

wind blows over & house with roof area A = 220 Mm% with speed v = U5 m/s
Po = %8 (O Vu?

we use Bernoulis equation and compare to wind stil
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where els the

pressure on the
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Like an upward force on the roof
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Laminar fow +hrou3h 3 pipe with £ixed cross section, use Eq. (444D Q= gg‘% ™ (V*A"> Ltm— e {I + A—:l
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Q i the fow rate. we have to find &) how much the fow decreases ik the - 20 o e 14
_ _ N
piee is made narrower A_: — — 0,05 and b) how much it is increased Q g: r
& ar
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€ the variation of the radius ris very smal, we could have used a linear
approximation built on the derivative
0Q = LpePe)  utr® Ar
2p A
= Q (wan)

g e (49)
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but the variation is not small here, and the authors of the book want a
better estimate

~ 19% decrease

- 1 Rl6

and € 4L _ 003500 —> %

A Q2% increase

Be\jono\ a linear apperoximation, the results are not samme’rr'\c!




\AU=doy
M = 0,00l :"\_"5
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which is a huse pressure onltj a‘o(aﬂeo\ to a small area (arobablg caus'\nj
wear and tear. \t is Probabl&j not £air to compare it to the standard

air pressure at sea level | Q1> - |Og Pa
that is homogeneous to the surface of the record, and does not scratch

it like the needie




